IM3H Module 4 Review

Things you should know:

y=asinb(x—c¢)+d
y=acosb(x—c)+d

@ —> Scaling factor: Vertical stretch: ’a’ >1,

Vertical shrink: ‘a‘ <1

—da —> Reflection over the x-axis

b— 277[ = period

C —>» Horizontal translation (left or right

d —> Vertical translation (up or down)

Graph of y = sinx
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Graph of y = cosx
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Half-Angle Formulas - u l—cosu
din¥=t l-cosu —_-— I+cosu tan Lt =
2 ) 2 sinu
B sinu
l+cosu
Double Angle Formulas sin2u = 2sinu cosu
cos2u=cos’ u—sin"u=2cos u—1=1-2sin"u G‘
fven
2tanu 4]
tan 2u = ———— f\
1—tan® u _H,1
Sum and Difference sin(u+v) =sinucosv+cosusinv - tan u + tan v ')‘Q,% .}—

Formulas

sin(u—v) =sinucosv—cosusiny
cos(u+v) = cosucosv—sinusiny

cos(u—v) =cosucosv+sinusinvy

I—tanutanv

tan(u—v]— tanu —tanv
I+tanutanv

Definition:

Even — f(—t)= f(t)
Odd — f(-t)=-f(¢)

Even and Odd
Trigonometric
Functions

The cosine and secant functions are even.
cos(—t) = cost sec(—t) = sect
The sine, cosecant, tangent, and cotangent functions are odd.

sin(—¢) =—sint  csc(—t) = —csct

tan(—t)=—tant cot(—t)=—cotf?




Practice Problems
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f(x)=2-3tan4 x+%
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Find all solutions in the equation in the interval [0, 2r).

5. tan’3x+tan3x =0
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6. sin2x—cosx =0
2stnxcoSx-cosx= ()
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Find all general solutions in the equation

7- 4coszi—3 =0
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8. csc?x—cscx—2=0
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9. Given Sin49=? and find the exact value of sin105° value of tan255°.
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13. What is the amplitude of the function f(x)=4—-6sin2(x—1)?
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Verify the identities:
14. sin® @ —sin* @ = cos* @ —cos* @ 15 1+sind  cosé -
' cosf  1+siné




1]

16. tan(z—ﬂ]= 1-BmE 17. secz(g—xJﬂ:cot2 x

4 l+tan 8
n Y- 50 h'l52)
— =y
)+ '\'w\ /q ‘bﬂe jm"}’z—-}mx b
L ] -YonB |+ ton B4, Ton X Yonx /-

(=
+ Ton & P frax-cos B
\ V4 . At

18. Find the exact value using a sum or difference formula.
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24. Find cos(a — b) 1fcosa—— sin - = and angle a and b are in the same qua rant.
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25. Graph the function: f(x)=2-3 sin4[x +—§—)
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26. Graph the function:
fix) :4+2(:sc(2x-fr)
2(X = %2)

/\jefl'c)(&: ..?‘-T-‘«:_“

Phose switk= + T¢

27. Write a sine and a cosine equation for the graph below.
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